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YEAR 11
ACCELERATED MATHEMATICS

PRELIMINARY ASSESSMENT TASK 2

Section 1 (31 marks)

Allow about 40 minutes for this section
Show all working

2016
STUDENT NAME: N | . MARK :-- /3%
TEACHER: ) '
TIME ALLOWED: 45 minutes
WEIGHTING: 70 %
Directions:

» Answer muitiple choice questions on the page provided.

« Use a new sheet for additional questions.

» Show all necessary working. Where more than one mark is allocated to a question,
full marks may not be awarded for answers only. s

« Marks may not be awarded for careless or badly arranged work.

» Calculators may be used

Find the exact value of
i) sin 330°

i} tan(—225%)

Solve for & in the following:

i) Zecosf+1=0 for — 180° < 8 < 180°
ii) tan20=1 for0 < 8 <£360°
Prove that
cos @

m—tanﬁ = secf

Find the equation of the straight line that contains the

intersection point of the lines 3x + 2y — 12 = 0 and

5x —y — 7 = 0 which is parallel to the line2x —y + 4 =0

Find the quadratic equation that has roots 3 -I- VZand 3 —+2

Marks




10.

11.

Sketch and find the equation of the locus of a point P(x, y)
that moves so that:

a} its distance from (2, 1) is always 4

b) it is equidistant from the points A(3, 2) and B(5,5)

Solve for x in the following equation
(x—2)-2(x—-2)-15=20

Calculate the perpendicular distance from the point (1,4) and
the line 3x — 4y + 12 = 0, leaving your answer in exact form

Prove that the line x — ¥ + 1 = 0 is a tangent to the parabola

y=x"—3x+5

Find
x—2

m i .
xo-2x2—4

Two people set out from point P at the same time. One
travels at 20 km h™" along a straight road in the direction
032°. The other travels at 25 km h™1 along a straight road in
the direction 132°. Find their distance apart after 3 hours (to
the nearest km).

Section 1I - Multiple Choice (4 marks)

Use the multiple choice answer sheet for Questions 12 - 15
Allow about 5 minutes for this section

12.  Theline 6x — ky = 2 passes through the point (3, 2). What is the value
of k?

@ -3 (B) 8 (cy -8 o 3

13. Whatis the value of k if the sum of the roots of
x? — (k - 1)x + 2k = 0 1is equal to the product of the roots?

(A) -3 B -2 © -1 (D) 1

14. Which of the following inequalities satisfy the region sketched
below

(A} y<2andy=x2-2 (B)‘ySZandnyz—Z

Q) yzZ2andyzx*-2 (D) y=2andy <x*-2

15.  Select the equation for which A> 0
2 3=0
A) a7 et B x2+6x49=0

Q) 2x*—4x+5=0 (D) x*—4x-5=0
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